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No. EE|IBf | 5= | REH| BIR | JBLL | 5= | REt | BR[| IBAL | 155 | BEH | BR[| JBA | 55 | REt . JEAZ
1 31503 | RELKZ SH BX B R 7]10CS 13| 13 6|UFD 13| 26 1|DSQ 13 39 6 6 6| 45 32 9
2 31463 | RELKRZ W ER piy: 1 1 1 1 8 6 6 7|IDNF |DNF 13( 20| 10f 10f 10| 30 17 6
3 31142 | REWLKZ ZH BT BEROEX 5 5 5 5 7 5 5/ 10|DNF |DNF 13[ 23 2 2 2| 25 12 5
4 30310 | MELARZ B0 % (i 6 6 6 6 1 1 1 7|DNF |DNF 13 20 5 5 5 25 12 4
5 29805 | MK BE PR EH TH DNF [DNF 13 13 9 7 71 20 2|UFD 13| 33 9 9 9| 42 29 8
6 31623 | LEBEKRZ AR E—E HE #BE/AFL #A 3 3 3 3 3 2 2 5|DNF |DSQ 13 18 1 1 1l 19 6 1
7 31305 | EBKRF FH % BH) EK/ %@ 2 4|RDG 4 4 4 3 3 7|IDNF [DNF 13 20 3 3 3] 23 10 3
8 30804 | EBERF AiE AR LS 2 2 2 2 5 4 4 6 3 1 1 7 4 4 4 11 7 2
9 28293 LB T HEAF BT B He 1&& 9 8 8 8| 11|RET 13 21|DNF |DNF 13( 34 12| 11| 11| 45 32 10
10 | 30006 |[L&TIFEARF  EBSH EX i R 8 7 7 71 12|UFD 13| 20|DNF |DNF 13| 33 8 8 8| 41 28 7
11 | 30924 |[LEBTHEXH it BN K XA DNF [DNF 13| 13| 10|RET 13| 26|DNF |DNF 13| 39 7 7 7| 46 33 11
12 | 30896 |LBIHEAF TH FiE MROKIE/WWT BKA| 10 9 9 9 2|UFD 13| 22|DNF |DSQ 13| 35| 11|DNE 13| 48 35 12
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by 7T 4=y > 2B 11:28:58 14:45:03 16:04:24 10:31:01
L — & T B 11:43:58 14:47:17 16:19:24 10:40:42
e 3=F= 7 ITAMEER REEER
JeiE JEX hngE == wHE A




